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Population of Lincoln Population of Omaha

2,441 -

13,003 432.7% 16,083 754.1%
55,164 324.2% 30,518 89.8%
40,169 -27.2% 140,452 360.2%
43973 95% 102,555 -27.0%
54,948 25.0% 124006 21.0%
75933 38.2% 191,061 54.0%
81884 B.0% 214008 12.0%
98,884 20.6% 223844 46%

251,117 122%
301,508 20.1%

128,521  30.0%
149,518 16.3%

380 171,932 15.0% 348929 15.0%
1990 191972 11.7% 313939 -9.5%
2000 225581 17.5% 335,795  7.0%
2010 258,379 14.5% 2000 390,007 16.1%

Est. 2012 265404  2.7% 2010 408,958  4.9%

U.S. Decennial Censusl ! Est. 2012 421,570 3.1%

2012 Estimate!'®! sourced TENTTT]

Find a model for each.



